ma —mb + me & N 227
® m(a+b+c) @ m(a-b-c) ® m(a—b+c)

@ ma(l-b+c) ® ma+b-c)



2. (x+2)2-(x-1)(x+2) & A7ste] Thhs] eRHH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



3. (x+y)(x+y+2) -3 AR oFH?

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
® (x+y-1(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-Dx+y-2)



X(x4+1)(x+2)(x+3)+1 & A5E3] 5h=
Aol &7 2 A7

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 424 +1=(A+1)2=(®)?

® x+3 @ x+2

@ x2+3 B x24+3x+1

® x2+3x+2



LS Z 42 _agb-bc+acl QA5E?

@D b+c @ a-c ® a+b @ a-»b B b-c



Ex]
@ x © xy
© 2x+3y ® —2x+3y
@ xy(-2x+ 3y) @ xy® (3x-2y)

B =




7.

an? & Q4RlstE?
(a—b)ym? + (b -

@ (a+b)(m +n)(m-n)
® (a-b)(m+n)?
® (a-b)(m—n)?

@ (a-

@ (a-



8.  75x2-12y? = a(bx+cy)(bx—cy) € W, A5 a, b, c  Fa+b+c
o] 3 ol

@D 10 @ 15 3 20 @ 26 3B 28



@ A A 9 = 7 Aol

@ (a+b) =4 B 9 dFolrt

® 4 B 9 4= 7 Mol

@ 4 A2t B o FF A (a-b) oIt
B ab = A A 9] olZ~o]t}.



o O
=

10. ot

© B o4t atab-2 2 % 2 o]},
© A 9 B9 F5%l A4 a? o|th

@ 0O ® 0,0

©a
® ©

® 6,0,

©



11. o8 & (x+5)2 - 2(x+5) — 15 9] 215l AL9

D x+8 ® x-=5 B x-1 @ x-17 B x+4



@ —-2n B m4+n @ 2n 3B 2m

@D 0



-4p+qp+p* =

@ (p+29)°

® (p-2q9)°



14. (a-2b-3)(a+2b+3) & AN Aoz &2 727
® a®?+4b>-12b-9 @ a?-4b%2-12b+9
® a2 -4b2+12b+9 @ a2 -4b2-12b-9

B a2 +4b2+12b-9



15.




16. (x+y)(x+y—1)-20 & H2A AFEF] g 229

@ (x+y-5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x—y-5)(x—y+4)



o] AFA] QI B ZHOoAQ,
17. (24 3x+3)(x2 +3x-5) +7 o a2 9 =

@ x-1 O x+1 © x-2

® x+2 @ x-4 ® x+4

=
-
=
c
=
-
>R
=%



18.

(x+2y—2z)(x+ 2y +4z) — 772

@© (x+2y-52)(x+2y+3z) @ (x-2y+5z)(x—2y-32)
@ (x+2y+52)(x+2y-32) @ (x+3y+5z)(x+2y-32)

® (x4 22)(x—22)(x*> +3)




19.

ab +5a—-4b-30 = 0
(F,a>0,b>0)

DO ERE



20. (x-2)(x=-3)(x-4)(x-5)+1=(x*+ax+b)>?L W, a, bo] 3
ool et

Ll Hia=

YERE



21.

(2a-3b+1)?-(2a+3b-1)> =8a(Aa+Bb+C) L T, A+B-C
= oozt

RJe:a+B-C=



22. (2x-1)2-9 & A5E5 5t a(x +b)(x +¢) 2 HEFE o, be —a
o] & Aokl

a Ctibc—a=






24. A (x-1)2-9y? & A5Eafet?

@ (x+3y-1)(x-3y+1) @ (x+3y+1)(x-3y-1)
@ (x+3y-1)(x-3y-1) @ (x+3y-1)(x+3y-1)

® (x+3y+1)(x-3y-1)



25. P +3x=5A M, x(x+1)(x+2)(x+3) -3 2] g7

D 21 ® 32 A 60 @ 96 B 140



26. o= Ae deEsistE?

(x=-2)(x-1)(x+1)(x+2)-40




27, (x-D(x=2)(x+1)(x+2) - 102 Apa5HA?

@ (*-1)(x*-6) @ (2 +1)(x2-6)
® (x* - 1)(x* +6) @ (x* +1)(x +6)

® (2 -1)(x2-5)



28. The x(x+ 1)(x+2)(x+3) + 1 & A2 oHoHE?

D (x> +3x+6)? @ (x> +3x-1)2 ® (x*-3x+3)?

@ (x2-5x+32% O (x®+3x+1)?



x(x+1)(x—|—2)(x+3)—|—1 o] (x?+bx+c)?

o] k27

@D -2 @2 -1 3 0



30.

o) & Fofolet

Bein-



31. x%y—y-2+2x2 9 Qd57Fopd AL?

D x-1 @ x+1 B x2-1

@ y-2 ® y+2



32. xy-3y+x-3S A5EoHotH(ax+b)(my+n) D, a+b+m+n
o] k& b

D 1 @ 2 3 0 @ -1 B -2



33. a+b=20°]1,a(a-1)-b(b+1)=6 <L W, a-b O] S Fo}H?

D 2 ® 4 B 6 @ 11 B 16



34.

FPAH Y 94H°l7}x2+4x—y2—4y o]
off, o] HaYAPHT 9] Fol & 5HH?
® x+y-4 @ x-2y+4
@ x+vy+4 ® x+4y+2



35.

@ (x-a)(y-b)
@ (x+a)(y+b)

@ (x—a)(y+b)

® (x+a)(y-b)



4x% — 24xy + 36y — 16

36.



37. 4x?—dxy+)? +4x-2y B AFEAFAEY (2x - y) (Ax - By + C)
7F = AT A+ B+ C 9] & Aol

L g A+BrC=



38. a%-8a-9b? + 16 & JAE3|5HH?

© (a+3b-4)(a-3b-4) @ (a+3b+4)(a—3b-4)
® (a+3b+4)(a+3b-4) @ (a-3b-4)?

® (a+3b+4)(a-3b+4)



39.



40.

a? +36b% - 12ab-25 &

A0) gg 52

® a-12b

@ 4qg—12b

4
e,
_>;1_|‘
i)
1o

@ 2a-12b

® 5a—12b

® 3a-12b



41.

x% +3xy —x—6y—2 5 A5l oA (x - 2)(ax + by + ¢) °]Th.
a+b+c o g& Fotefzh

a%*fa+b+c:



42.

abc +ab+ac+a+bc+b+c+1

@ (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
® (@a+1)(b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)




43. ThE A+ (-2y+3)x-(3y-1)(4+2) B AGENele] U A4S
SERSEEH

@ 2x-2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3



44. x?+2xy+y* -5x-5y5 ASE5HA?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x-y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)



45. 12 -2xy+)% +2x -2y - 3L A5E5HH?

D (x-y=-3)(x-y+1) @ (x+2y+3)(x—y-1)
@ (x-y+3)(x-y-1) @ (x-2y-3)(x-y-1)

® (x-y+3)(x-2y+1)



46. x*-2xy+y?>-5x+5y+4 5 Rl otA?

O (x-y-4)(x—y-1) @ (x-y+4)(x-y+1)
® (x4+y+4) (x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)






48. -9x? +y? + 6xz -2 & AFEoMtIEY (ay - 3x+ 2)(y + bx + 2)
7F = et olwl, A<= a, b, ¢ ol ot a+ b + ¢ 9] F-= F5HAE?
D1 @ 2 3 3 @ -1 B -2



49.

2(x+2)% +2(y - 3)*

(x+2)(y-3)

Hix—-y=

=4 4o, x-y 9] & okt



A x24+2y2 -2x—3xy+3y+10

&

50. o

Ho



